CC-BCA-C3.

2021
Time : 3 hours
Full Marks: 60
Candidates are required to give their a1 swers in
Their own words as far as practic: b ¢.
The figures in the margin indicate ful 1marks.
Answer from all the Groups as dirc 2icd.

Group — A

(Compulsory)
(1) Choose the correct answer for the following:  X10 =10

(A)Which provides runtime environment for java byte code to be ¢ .. -uted?
(1) IDK AT IVM (111) JRE (I ) IAVAC

(B) The \w002 1 article referred to as a

nicode escape sequence (1) Octal escape  (Il1) Hexaded n al 1V) Line feed
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(D) What is the return type of the hashCode() method in the Objec = lass?
(DObject Mt (I1Hlong (IV)void

(E) Which of the following is a valid long literal?

. .:Z . ;"l'_.".' s &

(DIVM (1) JRE

(DABH8097  (11) L990023  (1lI) 904423 (U 0xnf02 )l

(F) What does the expression float a = 35/ 0 return?

L

(DO (II)Nota Number  {III) Infinity  «TV) Run tin < xceptions

(G) Which of the following tool is used to generate APl documen: it on in HTML format from
doc comments in source code?

(Djavap tool  (Il)javaw command Hfﬁlavadoc tool  (I' ) avah command
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